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Page 90

Hi again!

You have been doing real well.

tet's continue.

You added the fractions and then you reduced your

answer. Always follow that process. ADD the

{ractions and REDUCE the answer.

What is 3/7 + 9/5 ?

(a) 12712 Turn to page 92

(b) 78/35 Turn to page 99

(c) 2 8 Turn to page 94
3B

(d) I'm not sure Turn to page 96




Page 91

Fine! You're getting it now.

Here's another one.

Find the sum of 3/8 and 1/3.

(a) 3/4 Turn to page 100
(b) 17/24  Turn to page 99
(c) 712 Turn to page 102
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Page 92
No: 3/7 + 9/5 is not 12/12,

You can do better than that. [ever add denominators. 5

To see how the problem should have been worked,

turn to page 96.




Page 93
Mo' You don't quite have it.

Take this problem %o your teacher for help.

Then return to page 90 of this Unit, found at the %
beginning of Bonglet II.




Page 94

Yes: 2 8 1is an acceptable answer.
3

(3))

Is 78/35 also correct for the sum of 3/7 and 9/5 ?

(a) Yes  Turn to page 109
(b) No Turn to page 101




Page 95

No! You don't quite have it.

Take this problem to your teacher for help.

Then return to page 90 of this Unit, found at the
beginning of Booklet II.
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Page 96

The problem was to add 3/7 and 9/5.

First we find a common denominator. Is there any

simple relationship between the denominators 7 and 5?2

No' There doesn't seem to be. So, how can we

find a common denominator?

It is really very easy. dJust multiply the two

denominators together.

So, a common denominator for 7 and 5 would be

7+ 5o0r 3.

Turn to page 97.




Page 97

This means we want to change both fractions to

PR SOy, ey an, e D im0l -
equivalent fractions with denominators of 35 so

thay can be added.

E How do we do it?
- Match ¢losely.  3/7 = 3/7 « 5/5 = 15/35
o/5 = 9/5 + /7 = 63/35

$o, 3/7 + 9/5 = 15/36 + (3735 = 78/35.

This is a perfectly acceptable form to leave the
answer in. However, vou might also notice that

78/35 = 2 —%_. Either answer is acceptable as they
3

are equivalent to each other.
Let's try this problem.

Find 2/3 + 3/4.
(a) 17/12  Turn to page 91
(b) 5/3 Turn to page 103
(c) 12/17  Turn to page 103




Page 98

Your answer was correct. Excellent:

You added 6/15 and 25/15 to get 31/15.
That's exactly right.

Now try one with lecters.

What is 3/x + 4/y ©

(a) I don't know what to do  Turn to page 111
(b) 7/xy Turn to page 106
(c) (3y + 4x)/xy Turn to page 105




Page 99

Good! You are correct. Let's go on.

Here's one using letters.

hat is 3/x + 4y ?

(a) I don't know what to do  Turn to page 111
(b) 7/xy Turn to page 106
(c) (3y + ax)/xy Turn to page 105




Page 100

No! You're still having trouble finding the correct

common denominator.

The last problem was 3/8 + 1/3.

A common denominator for 8 and 3 is 8 *+ 3 or 24.

3/8=3/8 * 1
1/3=1/3 - 1

3/8 - 3/3 = 9/24
1/3 + 8/8 = 8/24

So, 3/8 +1/3 = 9/24 + 8/24 = 17/24

Be sure you understand this page before you go on.

Then turn to page 110.




Page 101

You said that 2 *%_ # 78/35. (The symbol #
3

means "is not equal to").

Wrong! 2 8 does equal 78/35. How many 35chs are
35

there in2 8 ? Let's see. 35/35 = 1.
35

So,2 8 =1+1+8/35. 0.K.7?
'ag

9

Then, 2 8 = 35/35 + 35/35 + 8/35
35

Or, 2 8 = 78/35.

35
Either answer would be acceptable. But there is
really no reason to change 78/35. As long as it is

redaced, it is a satisfactory a.iswer.

Go on to page 109.




Page 102

No! You're still having trouble finding the correct

common denominatov.

The last problem was 3/8 + 1/3.

A common denominator for 8 and 3 is 8 - 3 or 24,

3/8 - 3/3 =9/24
1/3 - 8/8 = 8/24

3/8 =3/8 * 1
173 =1/3 - 1

So, 3/8 + 1/3 = 9/24 + 8/24 = 11/24.

Be sure you understand this page before you go on.

Then turn to page 110.
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Page 103

Your answer was incorrect!

Let's try again. We want to add 2/3 and 3/4.

(1) Find a common denominator. Remember,

one way that always works is to multiply

the denominators.

3+4=12 So, 12 is our common

denominator.

(2) Change 2/3 and 3/4 into twelfths.
2/3 + 4/4 = 8/12 and 3/4 - 3/3 = 9/12

Notice that by multiplying by 4/4 and 3/3 we did
rot change the value of the fractions. This is
important. NEVER CHANGE THE VALUE OF THE ORIGINAL
FRACTIONS.

Turn to page 104,
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Page 104

(3) Add: Ye now know that 2/3 = 8/12
and 3/4 = 9/12. ? ;
So, 2/3 + 3/4 = 8/12 + 9/12 = 17/12 |

0.K.? ;

Using the ideas that were just explained, find

2/5 + 5/3.

(a) 19/15  Turn to page 95
(b) 7/8 Turn tc page 93
(c¢) 31/15 Turn to page 98
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Page 105

Excellent! You're making good progress.

Here's another one using letters alone.

Find a/b + ¢/d.

(a) (a+c)/(b+d) Turn to page 121
(b) (ad + bc)/b Turn to page 116
(c) (ad + bc)/bd Turn to page 118
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Page 107

You did the calculations correctly, but fell into

a trap.
Remember, we just said to use parenthesis when

talking about a quantity.
Weli, 1/y + 3/z = (x + 3y)/yz. The parenthesis

Go to page 112,
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Page 108

No! You forgot to change 1/y and 3/z ito equivalent

fractions with a common denominator.

Notice that: 1/y
3/z

z/yz

3y/yz

Now, we can add: 1/y + 3/z = z/yz + 3/yz
= (z + 3)/yz.

You must never change the denominator of a fraction

without also changing the numerator.

Go on to page 113.
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Page 109

Good! You know that 2

oo

and 78/35 are the same.

(&)

3.
It is important to recognize bot!, forms. You will

see them both used at different times.

Here's one using letters.

What is 3/x + 4/y ?

(a) I don't know what to do.  Turn to page 111
(b) 7/xy Turn to page 106

(c) (3y + a4x)/xy Turn to page 105




Page 110

Add the fractions 2/5 and 5/3.

(a) 19/15  Turu to page 93
(b) 7/8 Turn to page 95
(c) 31/15  Turn to page 98




Page 111

The last problem was 3/x + 4/y. Ue can work this
the same as we did the numeric fractions. Remember,
we first need a common denominator. This is the

product of the two original denominators.

(1) Common denominator = (x) -« (y) = xy

(2) Now, we want to express both 3/x and 4/y as
equivalent fractions with xy as denominator.
3/x =3/x + 1 =23/x - yly = 3yl/xy
47y = 4/y - 1

4/y « x/x = 4x/xy

(3) So, 3/x + 4/y = 3y/xy + 4x/xy = (3y + 4x)/xy.

Turn to page 112.




Page 112

is because (3y + 4x)/xy is not the same as
3y + 4x/xy. Remember that the whole quantity

(3x + 4y) is the numerator.

Always express quantities like this inside

parenthesis.

Find 1/y + 3/z.

(a) (z + 3y)yz Turn to page 105
(b) 4/yz Turn to page 108
(c) =z + 3y/yz Turn to page 107




Let's back up jus~ = little and try again.

Find 2/5 + 5/3.

(a) 19/15  Turn to page 93
(b) 7/8 Turn to page 95
(c) 31/15  Turn to page 98




Page 114

No'! Your answer was incorrect.

(3 +4) + (3/7 + 2/7)

~jw
~5| o
"

7+5/7

75
7

The above solution is the best way to solve the

problem.

Here's another one.

Turn to page 134

Turn to page 120




Page 115

Here's another one.

Add x/3 + 4/y.

(a) (xy +12)/3y  Turn to page 118
(b) 4x/3y Turn to page 117
(c) (x + 4)/3y Turn to page 117




Page 116

No! The correct answer was:

a/b + ¢/d = (ad + bc)/bd

The only difference between this problem and the

others is that letters are used.

The common denominator is the product of the two

given denominators, so bd is the common denominator.

Changing both fractions to equivalent ones, with
bd as the denominator, we get:

a/b = ad/bd and c/d = bc/bd.

Now, we can add:

a/b + c¢/d = ad/bd + bc/bd = (ad + bc)/bd.

Notice that the numerator must be in parenthesis.

Find the sum of m/n + p/q.

(a) (m+ p)/nqg Turn to page 122
(b) (m+ p)/(n+q) Turn to page 124
(c) (mq + wp)/nq Turn to page 115
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Page 117

Oops: I thought you had it.

3y is the correct denominator for x/3 + 4/y.

Let's go through the whole problem.

x/3 + 4/y = xy/3y + 12/3y = (xy + 12)/3y.

See how easy it is.

Now you try another one.

What is k/8 + 2/m ?

(a) 2k/(8 + m) Turn to page 124
(b) (km + 16)/8m  Turn to page 115
(c) km + 16/8m Turn to page 122




Page 118

Fine! You're doing very well. That was a hard one.

Here's one using mixed numbers.

Add: 21 +1

1.
2

o] -t

(a) 35
6
(b) 32
5

(c) 23/6
(d) I don't know how to do it

Turn to page 135

Turn to page 123

Turn to page 135
Turn to page 125




Find the sum of 3 3 and 4
7

(a) 5477
(b) 75
7

(c) 1777

Page 119

~Jj N

Turn to page 129
Turn to page 129

Turn to page 114




Page 120

Good! You'vre progressing well.

Here's one more with mixed numbers.

Find the sumof 12 and 2 3 .
3

4
(a) 4 _g_ Turn to page 142
1
(b) 51 Turn to page 140
i2

{c) I don't know how to do it  Turn to page 125




Page 121

No! The correct answer was:

a/b + ¢/d = (ad + bc)/bd

The only difference between this problem and the

others is that letters are used.

The common denominator is the product of the two
given denominators, so bd is the common denominator.
Changing both fractions to equivalent ones, with

bd as the denominator, we get:

a/b = ad/bd and c/d = bc/bd.

Now, we can add:

a/b + c/d = ad/bd + be/bd = (ad + bc)/bd.

Notice that the numerator must be in parenthesis.

Find the sum of m/n + p/q.

(a) (m+ p)/ng Turn to page 122
(b) (m+ p)/(n+gq) Turn to page 124
(c) (mg + np)/ng Turn to page 115

R—




Page 122

No: You have to understand how to change fractions

to correct equivalent fractions before adding them.

Go ask your teacher about this and then return to

page 90 in Booklet II.
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Do you know how to add mixed numbers?

(?) Yes  Turn to page 119
(b) No Turn to page 125




Page 124

incorrect.

You find the common denominator by multiplying.

Go back to page 116 and reread it then make another ‘

selection.




Page 125

You said you don't know how to add mixed numbers.

Let's look at an example.

First of all, a mixed number is a number that contains
both an integer and a fraction. For example: 11,
2
21,7 3 are mixed numbers.
3 8

the mixed number 1 1 really means 1 + 1/2.
2

Now, let's see how to add two mixed numbers.

Add 11 + 22
5 5

This can be done simply by adding the integers and

adding the fractions.

So, 11 +22
5 5

(1 +2) + (1/5 + 2/5)

3+ 3/5

33
5.

See how easy it is. Here's one more example.

51 +71 =(5+7)+ (1/4 + 1/4)
7 7
= 12 + 2/4
=122
i}
12 ]
2

Remember to reduce the 2/4 to 1/2. Go on to page 126.




Page 126

Now, you do one.

What is 33 + 427
7 7

(a) 54/7  Turn to page 129
(b) 75 Turn to page 129
7

(c) 17/7  Turn to page 114




Page 127

The correct answer was 3 = 15/4.

3
4
Let's see why.

You know there are 4/4 in 1. So, how many are there
in 3? There are 3 x 4/4, or 12/4.

So, 33 =(3x4/4) + 3/4 =12/4 + 3/4 = 15/4.

3
3

Another example:
2 %_ = (2 x3/3)+1/3=6/3+1/3=17/3.

Do not forget to add the fractional part of the

mixed number after the multiplication is done.

Convert 4 1 to a fraction.

(a) 5/2  Turn to page 136
(b) 7/2  Turn to page 139
(¢) 9/2  Turn to page 132




Page 128

Converting between fractions and mixed numbers

is causing you trouble.

Go back to page 136 and reread the material. Then

make a different selection.




Page 129 :

Good! 54/7 and 7 5 are both correct.
7

Although both answers are acceptable, it is

important that you know how to go from one to the

other.

Convert the mixed number 3 3 to a fraction.
)

(a) 15/4 Turn to page 132
(b) 33/4 Turn to page 133
(¢) 1 don't know how  Turn to page 127

o e — a4




Page 130

Converting between fracticns and mixed numbers

is causing you trouble.

Go back to page 136 and reread the material. Then

make a different selection.




Page 131

7/9 is the correct answer. Good.

Do you see that it's really no harder to add three

than to add two fractions?

Here's another one using three fractions.

Add 1/12, 3/4, and 1/6.

(a)
(b)

(c)

5/i2
5/22
1

Turn to page 152
Turn to page 158
Turn to page 155




Lot L s £ e i S o Sl

el e o "

B TR ST T TR kTR T

BT TR T AT Tl

AT PR PRI

P:ge 132

Fine: Now let's Took at an example gving the other

way.

Convert 13/4 to a mixed number.

To do this, you simply divide 13 by 4.

3
4 {13 Remember that the rerainder
12 of 1 is really 1 over the
] divisor 4, or 1/4.
So, 13/4 = 3 1.
4

Here's another example:

' 6
19/3 = 3 | }9 = 6
8

anppacss

1

1
3

Here's one for you.

Convert the fraction 27/5 to a mixed number.
(a) 2 %_ Turn to page 137
(b) 4 4 Turn to page 144

(c) 52 Turn to page 120




Page 133

The correct answer was 3 = 15/4.

3
i}
Let's see why.

You knov there are 4/4 in 1. So, how many are there
in 3? There are 3 x 4/4, or 12/4.

S0, 33 = (3 x 4/4) + 3/4 = 12/4 + 3/4 = 15/4.

3
4
Another example:

2 %. = (2x3/3) +1/3=6/3+1/3=17/3.

Do not forget to add the fractional part of the

mixed number after the multiplication is done.

Convert 4 1 to a fraction.
2

(a) 5/2  Turn to page 136
(b) 7/2  Turn to page 139
(c) 9/2 Turn to page 132




E:
%

mixed numbers.

Go back to page 125 and reread the material carefully.

Then continue from there.
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Page 135
Right! Roth 3

and 23/6 are the correct ansvers.

You should be able to we*'. - i“ either form, and

convert from one to the ot r.

Try this one.

Sjw
-

5 Turn to page 142
2

(b) 5 1 Turn to page 140
12




Page 136

No! That's not quite it. Let's see how to

convert 4 1 to a fraction.
e

=4 + 1/2.

PO =i

How many halves are there in 4?
There are 4 x 2/2 = /2 in 4
Se, 41 =8/2+1/2 =9/2

2

Try another one.

Convert 3 2 to a fraction.
k!

(a) 5/3 Turn to page 128
(b) 31/3  Turn to page 132
(c) 13/3  Turn to page 130
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Page 137

Study this carefully before going on.

o) 2,‘4

Lo

What mixed number represents the fraction 19/77

i 1

N2 AT,

(a) 2 Turn to page 120

2
7

{b) 3 Turn to page 128

: (c) 1 urn to page 130

5
oy e
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Page 138

Turn to page 118 and go through this section on

mixed numbers again.




Page 139

No' That's not quite it. Let‘’s see how to convert

4 1 to a fraction.
2

‘ " 41 =4+ 1/2

; 2

How many halves are there in 47
There are 4 x 2/2 = 8/2 in 4.

So, 41 =8/2+1/2 = 9/2.
2

Try another one.

Convert 3 2 to a fraction.
3

(a) 5/3 Turn to page 128
(b) 11/3  Turn to page 132
(c) 13/3  Turn to page 130




Page 140

That was a tough one. Let's look at it again.

We want to add two mixed numbers.

1 (1 +2) + (2/3 + 3/4)
3+ (2/3 + 3/4)

+23
)

wir

Now, 2/3 + 3/4 need a common denominator in order
to be added. Do you remember how to find it.

Just multiply 3 x 4.

So, 12 is the common denominator.

2/3 = 2/3 x 4/4 = 8/12 and 3/4 = 3/4 x 3/3 = 9/12. ;

So, 2/3 + 3/4 = 8/12 + 9/12 = 17/12.

EC

=

3

E lie now must break 17/12 into a mixed number.
E : ]

- 1712= 12 (7 = 12 [T =15
- 12 12

; 5

Go to page 141.




Page 141

Looking at the whole problem now,

(1 +2) + (2/3 + 3/4)
3+9/12 + 8/12

3+ 17/12

3+1 5

2

45
12

w|ro
Hjw
]

Be sure you understand this explanation before trying

the problem.

Find the sumof 21 and 3 1.
2 4

1  Turn to page 143
3

(b) 53  Turn to page 145
)

(c) 61  Turn to page 138
6




Page 142

Good' VYour last answer was correct. You are

doing fine.

You seem to understand how to add two fractions.
Adding three or more fractions is no different.
Simply make sure all fractions have a common

denominator, and add numerators just like you did

before.

Let's try one,

- What is 1/9 + 2/9 + 4/9?

la} /9 Turn to page 131
' ; (b) 7/27  Turn to page 148
] f (c) 9/9 Turn to page 151




have marde a carecless mistake.

Go back to page 140 and make another choice.

Turn to page 140.




Page 144
No! Not quite. Let's work it together.

5
27/5 = 5 {27 = 5 {21 =52
25 5

2

Study this carefully before going on.

What mixed number represents the fraction 19/7?

(a) 2 Turn to page 120

(b) 3 Turn to page 128

(c) 1

3
7
2
7
6  Turn to page 130
7




Page 145

Fine! You did it right.

Here's another one.

Add 25 and 11

(o))

N

Turn to page 147

Turn to page 146

Turn to page 142

iaop A,




- Page 146

fio! Not quite. Let's see how %o do it.

2

+ 1 (2 +1) + (5/6 + 1/2)
3+ (5/6 + 1/2)
3+ {5/6 + 3/6)

3 + 8/6

5 +11
6 2

But 8/6 reduces to 4/3 or 11 .
3

42

1

As: 4/3= 3 1% =3 (8 =11
3 3
1

So: 3+86=3+11 = 4

w
)=

Try this problem.

Add4 2 to 25

- 13 13
(a) 6 10  Turn to page 134
13
(b) 6 7  Turn to page 120
13




Page 147

You were close.

Go back to page 145 and choose anoth: ~ answer.




Page 148

Come on now. You can do better than that.

%
2 You know that to add fractions you rever add the
- denominators. Turn back to page 142 and try again.
B :

N P
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Page 149

Here's one more.

What is 7/18 + 5/18 + 2/18 ?

(a) 15/18 Turn to page 156
(b) 7/9 Turn to page 131




Page 150

No! You just don't have it.

Go see your teacher for help in adding three

fractions with like denominators.

Then return to page 142 of this Unit.

!




Fage 151

Nos

Let's remember how to add fractions with like
denominators. Simply add numerators and keep the
same denominator.

So, 1/9+2/9+4/9=1+2+14=7/9
)

Find the sum of 3/13, 4/13, and 5/13.

(a) 12/39  Turn to page 157
(b) 6/7 Turn to page 154
(c) 12/13  Turn to page 149




Page 152

No! You did it incorrectiy.

First you need to find a common denominator. Since
12 is a multinle of both 4 and 6, we can use 12 as

the common denominator.

1/12 + 3/4 + 1/6 = 1/12 + 3/4 - 3/3 + 1/6 * 2/2
1/12 + 9/12- + 2/12

12/12

But 12/12 = 1, which was the correct answer. Don't

forget to reduce your answers.

0.K. Now you do one.

Add: 2/5 + 1/4 + 1/10.

(a) 3/4 Turn to page 170
(b) 13/20  Turn to page 163




Page 153
Excellent!

Here's one to try using letters. ,

What is 3/x + 4/x + 5/x ?

(a) 12/3x Turn to page 176
(b) 4/x Turn to page 169
(c) 12/x Turn to page 172




3/13 + 4/13 + 5/13 = 12/13

Here's another one.

What is 8/17 + 7/17 + 1/17 ?

(a) 12/17  Turn tc page 150
(b) 16/17  Turn to page 149




Page 155

Your answer of 1 is correct. Fine. You noticed

that you should veduce 12/12 to 1.

Can you do one with mixed numbers? Let's try.

Find31 + 1/5 +23.
2

(a) 5 5 Turn to page 162
12

(b) 31/5 Turn to page 160

(c) 6 3 Turn to page 153
10




Page 156

Ne: HNot quite.

Keep in mind that in adding fractions with a

common denominator, just add numerators.

Add the fractions 4/13, 5/13, and 3/13.

(a) 12/39  Turn to page 157
(b) 6/7 Turn to page 154
(¢) 12/13  Turn to page 149

e —



Page 157

No' NEVER add denominators. If the derominators
are a1l the same you already have a common

denominator.

Go back to page 142 and start from there.




el TTEET ANy ST T S

Page 158

No. You did it incorrectly.

First you need to find a common denominator. Since
12 is a multiple of both 4 and 6, we can use 12 as

the common denominator.

1/12 + 3/4 + 1/6 = 1/12 + 3/4 - 3/3 + 1/6 * 2/2
=1/12 + 9/12 + 2/12
= 12/12

But 12/12 = 1, which was the currect answer. Don't

forget to reduce your answers.

0.K. Now you do one.

Add: 2/5 + 1/4 + 1/10.

(a) 3/4 Turn to page 170
(b) 13/20  Turn to page 163




Page 59
Fine® You're progressing very well.

How about trying one with mixel numbers?

What is 31 +1/5+237?
2 5

(a) 5.5 Turn to page 162
12
(b) 31/5 Turn to page 160

(c) 6 3 Turn to page 188
10
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Page 160

No' You didn’t do it right.

Let's see how to work it.

(3+2)+(1/2+1/5+ 3/5)
5+ (1/2 + 1/5 + 3/5)

31 +1/5+23
2 5

A gocd common denominator for the fractional part
would be 5 x 2 cr 10.

1/2 = 1/2 - 5/5 = 5/10

1/5 = 1/5 - 2/2 = 2/10

3/5 = 3/5 - 2/2 = 6/10

So, 1/2 + 1/5 + 3/5 = 5/10 + 2/10 + 6/10

= 13/10
But remember, 13/10= 10 113 = 10 | ig
1%_

='|._3-

10

So far the whole problem,

31+1/5+23=5+ 1 3=6
10

3
2 5 10

Go to page 161




Page 161

It is important that you remember what you have

learned before in order that you can apply those

ideas now.
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Add: 21,31 ,and51 |
2 6 2 |

|

(a) 12 Turn to page 171 %

(b)Y N Turn to page 168 |

(¢) Not given  Turn to page 166




Page 162

No! VYou didn't do it right. Let's see how to work

it.
31 +1/5+23= (3+2)+(1/2+1/54+3/5)
2 5
= 5+ (1/2 + 1/5 + 3/5)

A good common dencminator for the fiactional part

would be 5 x 2 or 10.

1/2 = 1/2 - 5/5 = 5/10
1/5 = 1/5 - 2/2 = 210
3/5=3/5 - 2/2 = 6/1)

So, 1/2 + 1/5 + 3/5 = 5/1C + 2/'0G + 6/10

= 13/70
— _ 1
But remember, 13/10 = 10 {13 = 10 | }g
3
='|__3.
10

So far the whole problenm,

3¢ +1/5+423 =5+1_3 =63
2 5 10 10

Go to page 161.




Page 163

Not quite.

2/5 + 1/4 + 1/10 could have 20 as a cnmmon denomina-
tor, since 5, 4, and 10 are all multiples of 20.

2/5 = 2/5 * 474 = BjZ0

/4 = 1/4 - 5/5 = 5/20

1/10 = 1/10 - 2/2 = 2/20

So, 2/5 + 1/4 + 1/10 = 8/20 + 5/20 + 2/20 = 15/20.
But, 15/20 = 3/4 by reducing it.

Don't forget to put your final answer in simplest

terms.

Now, try another problem.

Add: 2/3, 1/6, and 1/3.

(a) 6/7  Turn to page 165
(b) 7/6  Turn to page 170




Page 164

Good: You are correct.

Add: 2/5, 174, and 2 3.
q

PR AR LTI T TS

(a) 22 Turn to page 175
5

A At b A

(b) 32 Turn to page 168
5

(c) 3 4 Turn to page 175
n
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Page 165

You're making it too hard.

1t's really not much different to add three fractions

than to add two fractions.

Ask your teacher for help in this area and then

return to page 142 of this Unit.




Page 166

Incorrect:
|
|
|
i
Turn back to page 160 and try again.
|




Page 167
No: You didn't find the correct common denominator.
For the fractions /2, 1/3, and 1/4 each denominator

is a multiple of 12. So, 12 can be a common

denominator.
1/2 = 1/2 * 6/6 = 6/12
1/3=1/3 * 4/4 = 412
1/4 = 1/4 - 3/3 = 3/12

S0, 1/2 + 1/3 + 1/4 = 6/12 + 4/12 + 3/12 = 13/12.

Study this page carefully before proceeding.

Here is your next problem.

Add: 1/4, 2/6, and 1/3.

(a) 11710  Turn ts page 165
(b) 11712 Turn to page 170
(c) 11/14  Turn to page 165




Page 168

Very good: That was a tricky one.

’: Add: 4 1,5 2,and 6 3.

] 13 13 13

] (a) 15 6  Turn to page 153

: 13 |
] (b) 13 6  Turn to page 173

- 15

4 (c) 15 7 Turn to page 177

26




Page 169

No: That's net correct.

It's really easy to work with letters. Notice
that x is the denominator in every fraction. So,
you should simply add the numerators. In other
words:

3/x + 4/x + 5/x = (3 + 4 + 5)/x = 12/x

It's that simpile.

Here's another one to try.

Add 5/y + 10/y + 12/y.

(a) 21/y Turn to page 172
(b) 27/3y  Turn to page 183




Five! You are doiny we

Here's a similar problem.

T UERTELTEARE T AT g AR

Add the fractions 1/2, 1/3, and 1/4.

(a) 13/12  Turn to page 159
(b) 7/6 Turn to page 167




Page 171

No! The correct answer was 11.

2

|
(]

+31+51=(2+3+5)+(1/2+1/6 +1/3)
6

1
3
But (1/2 + 1/6 + 1/3) can be expressed as sixths.

172 = 1/2 - 3/3 = 3/€

176 = 1/6

1/3 = 1/3 - 2/2 = 2/6

So, 1/2 +1/6 + 1/3 = 2/6 + 1/6 + 2/6 = 6/6 = ]

S0,21+31+51=(2+3+5)+(1)=1
7 & 3

If you don't understand this problem, study it

carefuily before trying the next one.

Add: 2/5, 1/4, and 2 3 .
a4

(@) 22  Turn to page 175
5

(b) 32  Turn to page 168
5




Page 172

Very good! Letters are ireally no different than

numbers.

-~

Here's one more.

Find the sum of a/x, b/x and c/x.

(a) {a+b+c)x Turn to page 186
() (a+ b+ c)/3x Turn to page 184
(c) abe/3x Turn to page 179




Page 173

Oops' You missed it and you almost had it.

Try one more.

Add the mixed numbers 11,21 ,and 4 3.

2 2 4
(a) 8 %_ Turn to page 175
(b) S %_ Turn to page 175
(c) 8 %. Turn to page 164




Page 174

Fine! You did it right.

Try one more just to be sure.

Yhat is the sum of 3/m + 3/m + 2/m ?

(a) k/in Turn to page 180
(b} 8/m Turn to page 172
(c) 8/3m  Turn to page 178




Page 175

No:

Three mixed numbers are giving you trouble.

See your teacher for help. Then return to

page 118 of this Unit,




Page 176

No! That's not correct.

It's really easy to work with letters. HNotice
that x is the denominator in every fraction. So,
you should simply add the numerators. In other
words:

3/x + 4/x + 5/x = (3 + 4 +5)/x =12/x

It's that simple.

Here's another one to try.

Add 5/y + 10/y + 12/y.

(a) 277y Turn to page 172
(b) 27/3y  Turn to page 183

e r—

NPT Lk ey

o Yo B A S ek

A




Page 177

Oops: You missed it and you almost had it.

] Try one more.

R A i ek LA

Add the mixed numbers 11,21 ,and 43 .
2 2 4

(a) 81  Turn to page 175

~N|

(b) 9 Turn to page 175

1
i}

(c) 83  Turn to page 164
4




Page 178

Incorrect! You made a careiess mistake.

gl STy

Go back to page 183 and work the prublem on

f that page again.

Turn to page 183.
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Page 179

No: The problem was simply to add three fractions
like we've been doing all along.

a/x + b/x +c/x = (a+b+c)/x

Let's try another one.

Add k/b + L/b + y/b.

(a) (k+L +y)b Turn to page 182
(b} (KL + Ly)/b Turn to page 151
(c) kb +Lb+yb Turn to page 181




Page 180

Incorrect! You made a careless mistake.

Go back to page 183 and work the problem on that

page again.

Turn to page 183.
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Page 181

No: Jus% add numerators.

I'11 give you another chance.

What is 2/k + d/k + x/k ?

(@) (2 +d+ x)/3k  Turn to page 187
(b) (2 +d + x)/k Turn to page 182
(c¢) 2dx/k Turn to page 187




Page 182

Right! 1 think you understand it now.

Add: 3/z + b/z + k/z.

(a) (3+b+ 1)/z Turn to page 185
(b) 3/z + bk/z Turn to page 181
(c) (3+%+Kk)/z Turn to page 186




Page 183

No: You formed an incorrect denominator. y was
in all fractions, so it should have been the

common denominator.

B

27/y was the right answer.

Add: 4/k, 3/k, and 21/k.
(a) 28 Turn to page *78
k
(b) 64 Turn to page 180
k

(c) 28/k  Turn to page 174




Page 184

No! The problem was simply to add three fractions

1ike we've been doing all along.

a/x +b/x + ¢cf/x = {a+b+c)x

Let's try another one.

Add: k/b + L/b + y/b.

(a) (k+L+y)b Turn to page 182
(b) (kL + Ly)/b Turn to page 181
(c) kb+Lb+yb Turn to page 181




Page 185

:::
(]

3/z +bfz + k/lz=(3+Db +k)/z

That's all there is to it.

Add: a/k + b/k + c/k.

(a) fa+b+c)/3k Turn to page 187
(b) (a+ b+ c)/k Turn to page 182

(c) a+b+c/k Turn to page 187




Page 186

Great! You have successfully made it through
addition of fractions. Let's review what we've

done. %

I. To add two fractions with the same denominators,
just add numerators, keeping the same

denominator in the answer.

II. To add two fractions with different denominators,
first find a common denominator. Then add as

before.

III. To add fractions containing letters just foiiow

the same rules as you did with numbers.
IV. To add three or more fractions is almost the
same as adding two. Make sure all fractions

have a common denominator, and add as before.

{Continued on next page) |




Page 186 (Cont.)
V. To add mixed numbers. add the integers and
fractions separately in order tc find the sum.
hen working with the fractionai parts, follow

all rules of fractions that we have discussed.

VI. In every case express your answers in simplest

terms.

You should now be ready for a test over this Unit.

Go tell your teacher you have finished.




Page 187

<
Q

u chose the wrong answer.

Go back to page 181 and rework the problem.

Be more careful this time.

Turn to page 181.




Page 188

Very good: 6 3 is correct.
10

Here's another.

Find: 31 +1/56 + 23.
2 5

(a) 5 5 Turn to page 162
12

(b) 31/5 Turn to page 160

(c) 6 3 Turn to page 153
10




NORTHWEST REGIORAL EDUCATIONAL LABORATORY
CAT MATHFMATTCS

TEST OUESTIONS
UNIT 5A --ADDITION OF FRACTION

Directions: The correct answers will alwavs be expressed in lowest terms.

1. The sum of 3 and 2 is

E
: a) 5
]

? b) 1
:

§

g c) 6
g
i
z
é

| a) 5/14 |
§ b) 1/7 |
: !
: c) /7 |

2. What is 3/7 + 2/7?

3. 41/5+ 33/104+22/5=

a) 9 6/20
b) 9 9/10
c) 9 3/10

4. Add 32 and 5

- w"w‘f‘m AT AL, T AL SN Bend it s

Xy Xy
a) 27/xy
b)  37/2xy
c) 37/xy.

5. Add r/s, t/s

a) r+t

b) rt/2s

c) rt/s2 ,




UNIT 5A

What is the sum of 3 1/2, 1/5, and 2 3/5
a) 5 5/12

b) 6 3/10

c) 31/5

Add 4/x and 15/x
a) 19/2x
b) 19/x2

c) 19/x

What is x/z + y/a

s

a) xy/2s
b) (x +y)/2e

c) (x+y)e

1/3 +1/4 + 5/12 =
2) 1
b) 7/19

c) 11/12

4/R + 6/R =
a) 24/R
b) 10/R

c) 10/2R

what is the sum of K/V + S/V?
a) K V/vV

b) K+ 8
\Y

¢} KSs/2v
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UNIT 5A

Ada 2 1/3 + 3 1/4
a) 5 7/12
b) 5 2/7

c) 5 1/12

What is the sum of 5/12 and 2/3?
ay 11/12
b) 3/12

¢y 7/15

3/x + 2]y =
a) 5/xy
b) (3y + 2x)/xy

c¢) S/(x+y)

/s * 8/s + 3/s =
a) 18/s
b) 18/2s

c; 18/3s

Find the sum of k/lw and m/lw

a) m/lw




UNIT 5A
17. Find 3 1/4 + 1 1/4
a) 4 1/2
b) 4 2/4 |
c) 18/4 é
18. Add 3/17, 4/17 and 5/17 g
a) 12/51 %
b) 12/17 |
c) 2/34 :
% 194’ What ;is the sump of .7/9 and 5/9
E a) 12/9
; b) 1 3/9 |
% ¢) 11/3
é 20. &dd 3/k and 15/k
§ a) 45/k
? b) 18/k
| ¢y} 18/2k

21, Add 3/4 and 1/2

e s s a e,
e o i 8 MRS A o e < A

a) :5/4
b) 1 3/4
c) 1/4

-w-w-c-..-..\-q..m’,,.,,w




UNIT SA

22, Add 5 7/12 and 6 1/2

TAFETE AL, WA

a) 11 8/14

b) 12 1/12

R e Al L

c) 11 477

23. Find the sum of k/n, 1/n, and t/n

a) kl + ¢t
n

b) k + 1t
n

c) k+1l 4+t i

n y

§

24. What is 8/m + 7/m?
a) 1/m

b) 15/m §

c) 15/2m

25, Add 2/5 and 1/9

a) 23/45

WL e b A e B LT AW AA A S S N 2 0 ¥

b) 3/14

c) 5/9 ]




ANSWER SHEET - UNIT 5A

OBJECTIVE QUESTION NUMBER CORRECT ANSWER
1 1 a
2 2 c
5 3 b
3 4 c
4 5 a - .
1,5 6 b 2
3 7 e
4 8 c
2 9 a
3 10 R b
1,4 11 _ b
5 12 a :
1,2 13 _ a §
3 14 ) . b :
3 15 2 ’
1,4 16 e -
5 i7 - a o
2 18 b .
2 19 ¢
3 20 b
2 21 a
5 22 b
4 23 c
3 24 b
2 25 a
OBJECTIVE QUESTIONS
1 1,6,11,13,16
2 _ 2,9,13,18,19,21,25 ;
3 4,7,10,14,15,20,24
4 5,8,11,16,23

5 3,6,12,17,22
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